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“Statistical Physics” Spring 2004 | [
Quiz 3 (5 points) 30 January 2004 / :

Professor Mark W. Meisel

PLEASE PRINT and box final results. Show all work for full credit.
Work must be clear and unambiguous for credit.

Consider a set of Ising spins as discussed in class and in the textbook. The spins are noninteracting,
have a magnetic moment 4, and are in an external magnetic field B. Show that the magnetization

M is given by
pny —n_) _pN ( uB )
M = tanh
| 4 |4 kgT/ °’
where the notation is the same as the one employed in class and on the formula sheet.
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